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CS-2852 - Dr. Durant - Quiz 2
Spring 2014, Week 2

1. (2 points) Write the set method for an ArrayList implementing List. Throw an

IndexOutOfBoundsException when necessary. Return the

class Component View

element previously stored at the given location.

public E set(int index, E element) {
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(2 points) Write the remove method for an ArrayList
implementing List. Throw an IndexOutOfBoundsException
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when necessary. Return the removed element.

public E remove(int index) {
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4.

(2 points) Explain the difference and relationship between what must be done when you have
both an array of String and an ArrayList<String> of size 10 and need to add one more element.
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(2 points) When using java.util.ArrayList, explain a key similarity and a key difference of using an
ArrayList<integer> versus an ArrayList (with no type parameter).
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(2 points) Given interface Intr with method in() properly implemented by concrete (mstantlable,
not abstract) class Cla with method cl(). Is each of the following legal orillegal? (If multiple lines
and illegal, indicate the first illegal line for full credit.)

. Intr i = Cla();
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